

$$\frac{hx}{x-h} = \frac{(h+x)hx}{(x+h)(x-h)} = \frac{(h+x)hx}{x^2 - h^2} =$$

$$= \frac{(h+x)hx}{3x^2 - h^2 - 3xh} = \frac{(h+x)hx}{x(3x+h) - h^2} =$$

$$2) \quad \frac{3x+h}{x^2+xh} - \frac{hx+x^2}{3x+h} = \frac{hx+x^2}{x+3h} - \frac{(h+x)x}{3x+h}$$

$$= \frac{(h-x)(h+x)}{h^2+x^2} = \frac{(h-x)(h+x)}{h^2+x^2} = \frac{(h-x)(h+x)}{h^2+x^2} =$$

$$8) \quad \frac{h+x}{x} + \frac{h-x}{h} = \frac{(h-x)(h+x)}{x(h+x) + h(h-x)} =$$

$$= \frac{m^2 + 4m + 8 - 4m}{m^2 + 4m + 8} = \frac{m^2 + 4m + 8}{m^2 + 4m + 8} =$$

$$5) \quad \frac{4m(m+4)}{(m+2)(m+4) - 4m} = \frac{4m+4}{m+2} - \frac{4m}{m+2}$$

$$= \frac{x+1}{x} - \frac{x+1}{x^2+x-1} = \frac{x+1}{x} - \frac{1}{x} = \frac{x+1}{x} - \frac{1}{x} =$$